>

evalf(sin(% ) );

Digits = 20,

evalf(tan(% ) );

restart .
exp(1.);
arcsin (

evalf (arcsin ( iqi”l‘z(i

_> factorial(20);

jalasel

0.3826834325

Digits :=20

0.41421356237309504880

2.718281828
1 T
3

1.047197551

2432902008176640000

evalf (exp(—20) -20% -sqrt(2-Pi- 20) );

In(abs(—2.));
a:=2;
b=4-a+1,

eql =2-x+3-y=1;

eq2:=4 -x — 12 - y=4;

solve({eql, eq2}, {x,y});

g=x +4-x—5;

solve(g=0,x);

2.422786847 10"

0.6931471806
a=2
b:=9

eql =2x+3y=1

eq2:=4x—12y=4

=12
{y_ 9’x_3}

g:=x3+4x—5
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2

(> = (2 x—1)-(x—4)-(3-x+4)- (x+5):
i h=02x—1)(x—4) 3x+4) (x+5)
> k:=expand(h);
i k=6x"+11x —119% — 104 x + 80
> solve(k=0,x);
1 =4,

i 27 3 2 2
> factor(k);

2x—1)(x—4)3x+4) (x+5)

F-1)- (=1’ =P+ ).

> simplify ;
(x*~1)
B 45 (xz—i-x—l-l)

i AP +x+1

> subs(x=3,k);
i —520

> exprl = (2- sin(x) + cos(x)— 2) :

tan(2- x)
exprl = 2 sin(x) 4+ cos(x) —2

tan(2 x)

> opl(exprl);
1
tan(2 x)

2 sin(x) 4+ cos(x) — 2,
> nops(exprl);
2

> expr2:=(2-sin(x) +cos(x)—2);
expr2 ;=2 sin(x) + cos(x) —2
> opl(expr2);
2 sin(x), cos(x), —2

> nops(expr2);
3

(16)

a7y

(18)

19)

(20)

@1

(22)

(23)

(24)

(25)
(26)
@7

(28)



